normalized x?

[ normalized

X2 probability ]

—1]
10 0.16
Entries
0.14
- Mean
102 StdaDev
R 0.12
Entries + [Entries
10°° i ey e 0.1 - [ St
0.08}
-4
10 0.08] .
¢ [Entries
10 + - | Mean
0.0kt - A -
o10EP o O B
2 N ¢ 1 i
@ @ 0.9 -
Db 0-3 '
10 12 14 16 18 20 o7 .8 0.
X2 Prob(x?)
[==m== DQM_original_originalvecior_1000evt
s DQM_original_1000evt
— DQM_fitted4_1000evt
s DQM_fit_noCpe_1000evt
s DOM_fit_cpeOK_1000evt
A 5 > 5
5 E M E
g 45f P
ol 3 <
\Y E a" E.
3.5 S %
3;— v 1;—
2.5F- of--
2% -1 4
Lsf -2k
3 -3
e o S ; SE RN
E -E i i i
g o =5 +
T T
@ IR o 1.2
1.3
1+ | i :
-3 -3 -2 10 2 3
TP n (PCA to beamline)
A5 R »
e 4.5 2 1.8F-
B %< 1.6F-
v s Vo14f-
3 1.2F
-
2.5 E
0.8~
2 0.6F
15 0.4F
0.2F
o 05 o @
& 19 ]
1. 05F
10* 100’3 1072 107
AR(track, ]ets)
S :
N it
G F .
2 3 dn}
S :
o 2k I
v il
oF : F
N :
e
-3 : -
St || B & SRR
_F i i i
g R P 1 2 i 2 R
& A IR EGE RO
X SEPEPRE “1e-UEHEE -
o . i . s
107 1 10 10? '}o
T



	Contents
	Page 1


